Negative Decimal Division

Name: Score:

Solve the decimal division problems.

09 = -03 = -09 = -1.2 = 39 = -1.3
1.5 = 25 = -0.6 = 1.5 = 9 +-18 =
42 =5 = -0.2 = -02 = -1.2 = 0.3

3.5 = -2 = 99 = -33 = -6.2 = -3.1
-0.6 = -1.2 = 0.9 = 45 = -0.3 = -1.2
45 + -5 = -14 = -2.8 = 4.8 ~ -1.6

3 +-15 = 2.6 = 13 = 7.5 = -1.5

5.6 = 14 = 1.8 = -1.5 = 12 = 24

-6 + -1.2 = -09+-15 = 2.2 + -8.8

-09 +~ -6 = -6.8 ~ -1.7 = -0.7 = -2.8
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0.9 = -0.3

1.5 = -25

42 =5 =

-3.5 = -2

0.6+ -12 =

45 + -5 =

-09 + -6

Solve the decimal division problems.

-3

-0.6

-0.84

1.75

0.5

0.15
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Answers

-0.9 = -1.2 =0.75

-0.6 = 1.5 =

0.4

-02 = -02 =1

99 - 33 =3

0.9 = 45 =

-14 = -28 = 05

26 =13 = -2

1.8 = -1.5 =

-1.2

-09+-15= 0.6

68 +-1.7= 4
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39 +--13= 3

9 = -1.8

I
1
()

-12 03 = -4

-6.2 = 3.1 =2

-0.3 = -1.2

0.25

75 +-15= -5

72 +24= 3

22 = -88 =0.25

-0.7 = -2.8 = 0.25



